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Abstract   
A Rod Baffle shell-tube heat exchanger was simulated using HTRI software and Computational Fluid Dynamics (CFD). The results 
from both models were compared with available experimental data. In addition, the effects of distance of baffles and cold fluid’s 
velocity on the heat exchanger’s performance were analyzed. The obtained results showed that decreasing the distance between 
baffles can improve the heat transfer. However, diminution of this distance more than a threshold can lead to a significant reduction 
in the heat transfer. By comparing the two employed methods for simulation of shell-tube heat exchangers with bar baffles, one can 
say that the use of HTRI software is easier and faster than the CFD method and achieves acceptable responses, on the other hand, the 
CFD results are more accurate. Furthermore, the details of the temperature and velocity profiles of the fluid inside the heat 
exchanger can be calculated and analyzed. The results of this research can be an effective step in developing the application of this 
type of heat exchanger and redesigning of it. 
Keywords: Heat Exchanger, Rod Baffle, Computational Fluid Dynamic, CFD, HTRI. 
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 Helical Segmental Baffle 

2
 Segmental Baffle 
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 Hexagon Clamping Anti-Vibration Baffle 
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1� ��.:� ������ mm 300 +��0M < �= 4� +���� �>J�  �

mm 75 �� �I � �� +�T= < �= 4� +��0M < �= �>J�  � �.�=mm 

150  ��2` 	H 	_P .
1����� mm 25  �� 
1��= �>J� mm 7  SH 4�

��	P  +�s  .����� N�� +�	= ����1�D�2 �>�� < �= +��=573929 

 N�>1Tetrahedral  �1175634 |_1Triangular  .���	/ S��I�

 ��D� +�
1�� �� h� 7��	Oz  ���� 4� j� �= ��
=� N�����= +��0M < �=

 jk1 ��= � < �=�� ���X	= �I .���  

  

  
 6
�3- ���8 -/,��*</� ,�/��  ���5� �1 LM N���.3. �01�2� 


/��,4� 1/��-5 �050 * �)2 � 67�����-8   

 
 <�.4 +��= ���. �>�� �I � < �= |_1�� 7�-� �� +� .�H�

+��= ���. �-� +��0M < �= |_1 �=�� �I � < �= |_1.�.�=   

  

  
 6
�4- ���8 8��� �
2� � 67�����-8 F7-
  ���5� �1 �01�2�

3. 
/��,4 � 67�� *1���-8  

 
 <�. ��5  �O��X ^�_1���� ��H_1� ]_I� ^+���� � �O�	X 

 h� N���� �O�	X |_1 4� 9��?� +�0� �= �1��H 7��I
� ^�_1 �

 .
1� ��. ���� 7�-� |_1+��= ���.  ]=� � 7��	O �O�	X ?�	P

����
1� �O��X ^�_1 �H����H�� 7�-� �� � ��D� N�V �� 7��	O .��H�

z �� 
�	6
� �A. ^�_1 ���0� 7��= w\-� +�	= � ���1  ^�_1

٪ 100 .
1� ��. ���� ��	P  

  

  
 6
�5- 8��� �
2� ,� N���./��  ���5� �1 LM3. �01�2� 


/��,4 � 67�� *1 �����-8  

  

2 -1 -2-  * 
���) 6
�8��� �
2�  ���5�3. �01�2�  �� ��

���� 67��8-  

�� � �e� �I � < �= 4� �T= +��0M < �= 9� 
0�P :�� �� .��	/

�
1�� N�V :� ������  <�P 
��6 �����mm 300  �>J�  :��	=��= 
1�

 N��1 +���� 4� +��0M < �= :����mm 100 < �= �>J�  � 	5���� 4� �H

 ?��mm 100 �� <�. �� �� ��	/6 �� .�	� ��H�-� 7���  

  

  

 N�� :�� +�	= ����1�D� +�s �=538826  	�x ��	
�� S,6

 �= +��
X�1���. +��= Tetrahedral � 1105941  |_1Triangular 

�-� �= �
1��:� ������ �>�� < �= �� .
1� ��. S��I� +�  

 ��? � @	� 4�Fluent  �\��3/6  ���A
1� (4��	� j� � <6 
2O

 �O�� �= .
1� ��.�=1 7��= :���� � 
M	 +	�)��� S��	�7��	O (�� �

) ��-  ���� 	= <6Segregated.� 7��	O �= ( S
���5�� � �
1��� ��
A

SIMPLE  �
A.� 7��	O .
1�k-ε  
=��K � ������
1� N�� �=44/1 �

92/1 �09/0 � 1  .
1� ��. }	   

 +��M <6 N	
�� +�	=:� ������  �=2 �>�� < �= ��-  �+��= -

                                                             
1
 Transparency 

  
 6
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3. 
/��,4� 1/��-5 �050 * �)3 � 67�����-8  
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�	� 
1�C�= U3
X� ^	V � ������
1� B��J �� �4���� �+c	�� +�	= @��

�	/ h�\
�� �5
A.� � 
�	6 4� j� .��1400  G��
� �_X � �T1

 
P� �= B��1�D�6- 10  �= N���� +�	= � ��. �	50H3  ^	V < �=

�	� 
1�C�= U3
X� �����	50H �= G��
� � R1��� N�� 6- 10 =� 
1�

.���   

 ��. h�\
�� N�� ����. 4� <6 N3I
1� �1�	= +�	= :��L0H

 +�	= 5 +��= ���. [>
\�  +��� � �. <6 ���= Q�� h� 7��	O

 �1�	= � ����I� ���� [>
\� +�H +��= ���. �= +�2��� d1�� ��.

 .
 	/ ��	P  

  N�� � +c	�� �
�	6 �4���� ��5
1��� <��. S��6 BC��T�

 �
A.� 7��	Ok-ε .
1� ��. 	q� U	J ���= +�	�� 4� � 
1�  

	�)��� S��	� N��1 +�	= �5
1��� ����T�:  

)1(  u v w
0

x y z
∂ ∂ ∂+ + =
∂ ∂ ∂

  

���T� B�r
\� �� 
�	6 �4���� ��:�����  

)2(  2 2 2

2 2 2

u u u P
u v w

x y z x

u u u

x y z

 ∂ ∂ ∂ ∂ρ + + = − + ∂ ∂ ∂ ∂ 
 ∂ ∂ ∂
 µ + +
 ∂ ∂ ∂ 

  

  

)3(  2 2 2

2 2 2

v v v P
u v w

x y z y

v v v

x y z

 ∂ ∂ ∂ ∂ρ + + =− + ∂ ∂ ∂ ∂ 
 ∂ ∂ ∂
 µ + +
 ∂ ∂ ∂ 

  

 

)4(  2 2 2

2 2 2

w w w P
u v w

x y z z

w w w

x y z

 ∂ ∂ ∂ ∂ρ + + = − + ∂ ∂ ∂ ∂ 
 ∂ ∂ ∂
 µ + +
 ∂ ∂ ∂ 

  

+c	�� ����T�:   

)5(  
p

2 2 2

2 2 2

T T T
c u v w

x y z

T T w

x y z

 ∂ ∂ ∂ρ + + = ∂ ∂ ∂ 
 ∂ ∂ ∂
 λ + +
 ∂ ∂ ∂ 

  

 B�	K� 7��= ?�`�� � SH�� 7��	O }	  �= +4�1 ���.
O?� 

 (�-
x� N�� .
1� ��. @�,�� �������k-ε  7��	O +4����� +�	=

 	���I� �= SH��k  �ε  = 	�4 BC��T� 4� ����� 
1�= ����� �
 � ���

.
1�  

)6(  

i

i

t

k i
k

i

kuk T
w

t x z

k

x
G

x ε

 ∂∂ ∂ρ + + = ∂ ∂ ∂ 
  µ ∂∂ µ +  σ ∂    + − ρ

∂

  

   

)7(  

( )i

i

t
2

E i 1 k 2

i

u T
w

t x z

Cx C G

x k k
ε ε

∂ ε ∂ε ∂ρ + + = ∂ ∂ ∂ 
  µ ∂ε∂ µ +   ρεσ ∂ ε    + −

∂

  

 �7� �� ��μt 	=�	= 09/0 �C1ε 	=�	= 44/1 � C2ε 	=�	= 92/1 �σk  	=�	=

0/1  �σE  	=�	=3/1 �� .�.�= �� ���?�  t��X � ����� B�	��{� 4�

.
1� ��. 	q� 	J N�� �
 �� �T1�� 3��� 7��	O  

 B��1�D� @�,�� +�	= +4	� d��	.CFD �-� �=g�� B��e	   �

] Q�����0H1[ �= :
1� ��. �
 	/ 	q� �� 	�4 ^	. +4	� ~	.


M	1 +���� �� 7��	O �= 	=�	= �� �.�=m/s 2223/ +��� �� .K 300 

.
1� ������(?{� @�M ~	. +���� �H�  :��L0H������ +�H����  �=

 
=�K +���K400 ������ ��>�� < �= +�H 9���=���� 
��6 �� +� }	 

��..���  9����	� N���� N�� +�	= +4	� d��	. �� ���= +�	�� 4�

.
1� ��. 	q� 	J  4����,�� 9����	� �
 �� �T1�� 3��� 7��	O ��

 �O�	X +4	� d��	. 
1��= ��-  
 � � ��. �
.�� 	�4 B��J�= -

 ��-  U3
X� 7���M	=  �6�� N�V S
��1 ��SI :
1� ����	/ [�	T�  

)8(  ( ) ( )u x, y,z u x, y,z s= +  

)9(  ( ) ( )v x, y,z v x, y,z s= + 

)10(  ( ) ( )w x,y,z w x,y,z s= +  

)11(  ( ) ( )
( ) ( )

p x, y,z p x, y, z s

p x, y,z s p x, y, z 2s

− + =
+ − +

  

)12(  ( ) ( )p x, y, z p x, y, z s
p

s

− +  ∆ =  

 �7� �� ��s  ��D� +�
1�� �� �6�� N�V ���I�z  	
� R�6 	=

�� .�.�=�� ����1�D� ��6�� ���� (�-{� 7��	O �� ���5�H ��.

 � +���� +�H4	� �� (�-
x� +�H 	
����� 	���I� �� 
1� @4C

 �� .���. :��T� �O�	X���I� = (�� 4� 	e�6� 	���I� +	�/���

 ���I� � ��. ���A
1� 
=�K � 
X�����g�H�  � �5
A.� �-��O +c	��

g�H� .
1� ��. ���� ��	P 9� �5
A.� N3D0e�   

  

2 -2-  89�� ��2�3. �01�2� 
/��,4  ��HTRI  

 +4�1 ���. +�	=:� ������ ����	/  �=HTRI  �\�� 4�6  @	� :��

 N�� � ��? �Xist  ��:� ������ �� ���� � �
1�� ��. ���A
1� �.�=

.
1� �6�	V +�	= ��? � @	� :��  +4�1 ���. ���	/ + -  �������

 B�?�2,���	/ <��. +:  +�H �����H:� ������ �+� �DAJ +�H

:� ���������� � �
1�� +�H� :� ������ ������ +�H���� � +�H��	/ +

�� ���= .���@	� d�D� �� ���? � ��
=� ?�2,� Z����	/ +�� h�\
�� .��.

 jk17��	O B�. 	���I� �X	= � ��-  ���� �@	/ � �	1 +�H

 ?�2,� �1��H +�H	�{
���	/ �>X�� 	_P �� � N�V �< �= Z�� ����� +

�����6�	V �� �H :� ������ ����	/  +�H ���� 7���M �= ���� � �
1��

@	� �= +������ ���� ��? ���.  N�I
�� |_1 ����	/ N�I
�� �>� R�	e �

��	/ t��X ���	/ ?�2,� ��?O� �4���� � +��	/@	� B��1�D� d1�� + -

�= ��? � .��� 
1�  

  

2 -2-1-  �1 ��/,� P/-,� * 
���) 6
�3. �01�2� 
/��,4  ��

���� 67�� *18-  

�-� �= 9� ��
=� <�P 
0�P:� ������ ����	/  �� ���� � �
1��

 N�V ��mm 300 �>�� < �= �� 7� +���� 4� +��= �>J� mm 150  4�

�� ��	P 	5���� �O��X 	_P � N�V .
1� ��. �6�	V4�= ��	�/ 	H���� 

�= R��	�mm 2000  �mm 25  �
1�� 	_P �:� ������ mm 270  ��

 7��	O B�. .
1� ��. �
 	/ 	q��= 
M	1 �� �. S�q�� +� ���/

 �
1�� �� h� 7��	Om/s 2223/ ��? � @	� .��	/ .HTRI  	K�� N�V���� 

 ���=
0�P +���� ���	I� +�Hmm 50  |_1 +�	= � ��	� S��I�
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<
X�

�
 

 �e	M ]_I�:� ������  N�V 7� ��(z) mm 300  ��
1�� +��
=�

�� h� 7��	O +���  � �
1����	/ 1�D� �� ��. N���� ���� 7�-� � -

.�H�  

  

2 -2-2-  �1 ��/,� P/-,� * 
���) 6
�3. �01�2� 
/��,4  ��

���� 67�� ��8-  

< �= <J��  	K� �1�	= 
2O N�I
�� 	= �H��	/  �
1�� ��-  
 � �

�>�� < �= +���T� ��. � �e� +��=+�D�< �= �>J�  �� 	5���� 4� �H

mm 100  ?�� h� 7��	O +���� 4� < �= :���� �>J�  �mm 100 �=-

��� 
1��-� B��e	  �= +4�1 ���. . �=:� ������ �>�� < �= �� +�

.
1� �
 	�)� @�,��  

  

3- Q/��� 

3-1-  
	�� ��2�?-�
2� 9- 6> NRF��- * �/�� N��  

 +��= ���. :�	
/�?= :
 �� � ���. 4� <6 N3I
1� �1�	= 
2O

 �� h� N���� N�� ��_X :�	
0� �=5  4� +��= ���. [>
\� �4����

 N�>1Tetrahedral   +���� h� 7��	O 
M	1 �=m/s 2223/0  �. <6

 ���0. 7��	O dX +��� �4  N��O �� 7� B�r
\�) h�3 ����  (
1�

 +�	=5 ��T� �= +��= ���. <�. �� �2��>1 [>
\� �7  ��. ���� 7�-�

.
1�  <�. ��7 �� ��H�-�N�>1 Q��? � �= ��	/ +�_X ���. +�H

�= �
 �� QH�� h� N���� +��� ��1�D�+�D� +�_X ���I� B��A� ��

���0. +��= ���. +�	= ��� ��1�D� +�H4  �5 �� ?�`�� :��	=��= .��.

 � 
1� ���. 4� <I
�� N���� N�� <6 S,6 � 7��4 QH�� +�	=

N�>1 �= +��= ���. B��1�D� +�HTetrahedral  ���T� �573929 

�� h�\
��.��.  

  

  
 6
�7- 8��� �
2� �� N���. N5G �1 LM ��/,� 8��1 :-,��@  8�)

N5�� 
���  �S��T� �)Tetrahedral ����)  

  

���,�� 4� N�I
�� ����	/ ���� �O��X |_1 4��� B��J �H  �	�)�

���� �O��X ������ 9��?� +��= ���.�= .���� 
�0H� ����= �H :��

 ��
��� ��q��y+ ���� �O��X ^�_1 +�	= <�. �� �H8  ���� 7�-�

 �`	/� .
1� ��.y+ < �= �)/���� � N���� +��
=� 	 �= ��C	�4 �� �H

 	���I� R>x� ��� �
 	/ ��	Py+ �= +4	� �6 �� � 4����� ��C	�4

��C	�4 d1�
� ���I� �= 	 �= � 4����� +�H5  �= �O�� �= .����� Y>T�

 ��1��>�0� 	q�]17[  R1��� ���I� ���� ��y+  ������
1� ]=��� +�	=

 �
A.� 7��	O ������k-ε  
�	. +��2�-�� +���	
1� �Ansys ]18[  ��

 ������� 9��?� ^3J� R1��� (�� :��T�y+  N��P <=�P ����D� ��

.
1�  

�>�� < �= �� �= ����	/ :� ������ Y�ID� :�� ���= +� N�� 7���M

���� �=  G��
� �,�1���
M� � 
1� ��. h�\
�� ���� � g�� �=	,� +�H

] 7����0H1�= .
 	�)� @�,�� [ G��
� 4� ��q�� :��CFD  �HTRI  

������  

  

 

 6
�8-  :-,��@ y+ LM N���. N5G �1 �050 
���A ��-5/1  

  

:� ����	/ �>�� < �= �� �= �
1�� �	1 N��1 �O�	X +��� �+�

 (h�)�= N��O �� � ��. h�\
�� [>
\� 
M	1 ��2` +�4�1  ��. �W���

 G��
� ����?� .
1�CFD �=������ 7�-� �=	,� +�H BC��1 N�� �H�

 �� ���6 �� 
1� �����X	= ����P <=�P 
P� 4� ��. h�\
�� ����1�D�

 +4�1 ���. G��
�HTRI  
����= G��
�CFD  �����X	= +	
0� 
P� 4�

 +4�1 ���. G��
� U3
X� :�� 4� �-\= 	/� .
1�HTRI ���� �= +�H

 �=	,� �=B��A� +4�1 ���. ��������H � �1��H +�HHTRI  N�� �=

	,�� 
��� �= ��. ��� +4�1 ���.HTRI  
2O �1��2� R�	I� �=

 �6�	V B��1�D� 4� +����=:� ������ +�H����	/ �>�� < �= �= +�

 <=�P  ���A
1�
1� .  

 N��O :��L0H1 �� 7�-� �
1�� �� h� 
M	1 Q��? � �= �H�

�O�	X +��� �� QH�� �=��� N�I
�� R�	e � 4������ ��M �`	/�	/� 

�
 �� Q��? � ���,=�O�.��  � h� 7��	O B�. Q��? � ����� :�� 
>M

.
1� �
1�� �= N��1 ��0� 7��4 QH�� �,�
� ��  

  

N*�� 1- ���/Q CFD ،HTRI �1-1 *�)8 �,	 
 -,�8 3. �01�2� 


/��,4 � 67�� *1 �����- 8  

�	1 N��1 
M	1 �
1�� �	1 N��1 �O�	X +��� )K(   

m/s  HTRI 
 ����

�=	,�]1[ 
CFD  

2223/0  00/310  94/308  7/305  

3704/0 10/309 59/307 7/304 

5637/0 50/307  70/306 2/304 

7409/0 00/308  89/306 7/302 

  

 N��O ��2  G��
� +�_X �J��CFD  �HTRI  
����= G��
�

 .
1� ��. ����� [>
\� 
M	1 ��2` �� h� 7��	O +�	= �=	,�

 �6�	V4�= +��� 4� 	
0� � 
�p� ����1�D� N�� G��
� +�_X ������

:� ����	/  �=HTRI �� .
1� 
=�K ���	I� � �.�=  

  

  

  

  

  

300

305

310

315

320

0 0.1 0.2 0.3

 h
� 7

��	
O 

+
��

�
(K

)

 :� ������ N�V(m)

 �= +��= ���.44084 N�>1
 �= +��= ���.301679 N�>1
 �= +��= ���.424000 N�>1
 �= +��= ���.573929 N�>1
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N*�� 2- �VA �$�18 ��1 :�2��"�8 �*,A
  9-CFD  *HTR I 

�� W2�����/Q �,	 
 ,� 9- S��T� W?,� ���C �1/�� LM  

�	1 N��1 
M	1 �_X �J�� % 

m/s  HTRI CFD  
2223/0  05/1  34/0  

3704/0 94/0 - 49/0  

5637/0 83/0 -  26/0 

7409/0 37/1 -  36/0 

  

�� :��	=��= +4����� 
A/ 7���CFD  �= +4�1 ���. �HTRI  	H

 
P� N�6 :�� �= ��
�H N��P <=�P ��CFD .
1� 	
-�=  

  

3 -2- 67�� ,X- 
��,� N�F��- ,� ��-5/1 * �)��,4  �1 �01�2�

3. 
/��,4 �� ���� 67�� *18-  

 N�� ��CFD  N�I
�� 	= ������ � < �= 	K� �1�	= 
2O �h� N����

��	/ � N���� ���V ��D� B�4��� �= �e	  dX :���`(z)  �
1�� ��

:� ������ ����	/  .�. �
 	/ 	q� ��	��r� �� �e	  ~�_X :�� 

 <�.9  N��O �� 7�-��r
\� �3 .
1� ����  
1� ��. �T1

���� ������ � < �= 	K� �� ��	/ h�\
�� h� 7��	O 4� �V�_X�= �H ���2��

 <�. �� .���0� w\-� �� h� 7��	O +��� 	= 	5���� �= ?�� �9  7��	O

�= +��0M < �= 4� ���M 4� j� � ��. ���� ��A1 �DAJ 4� h�  < �=

�� �I � N�V .�1� :�� ~�_X�e	  mm 300 .
1�  ~�_X :��

�= h� 7��	O< �= 4� G�����= [>
\� 
2O �1 4� � �
 	/ �>J�  �H-

��. 9��?� ����������� 4� ���M �� ���X	= �� :��	=��= .���< �= +�H �H

g�H� ���� 7�-� �� ����A
� �
��� B�	��{�.���  

 <�.10  	= < �= 	K��� 7�-� �� h� 7��	O +��� Q��? � .�H�

�� ��H�-� �� ��_��0H�= 7�. 9��?� �= ��. 9��?� �� +��0M < �=

�=�� Q��? � ��� ���� ��	P +���� �/�?= R��	� .�=��g�H�  :��

 7��	O dX 4� �Q��? �3 �=4  jk12  7��	O dX �0H 4� 	
0� �1 

� �� 	
-�= (�-
x� ��,�� 	�� :�� <��� .
1��� < �= �= ���X	= 	K .�.�=

 ���0. 7��	O ]V�I� <D� �� ��� N�p� ��_=3 �>�� < �= �= +��0M +�

 4�K 308  �=K 312 �� Q��? � .�=��  

  

  
 6
�9- ���5� �1 LM ��/,� 
��T��- Y5VA  

  

�= �� �I � < �= +�	= Q��? � :���= 
1� 	
���?� �O�	XC
º 9 

�� �1����6 �� :�	
0� ��g�H�  ���0. 7��	O dX +�	= ��� Q��? �

1 �� �P3� < �= �� 	H �= �� 
1��� 	�� :�� 
>M .��� ��,�� �����

 .�.�= 7��	O �= < �= ]V�I� <D� 
-� 	���
� ��6�� �� :��1 ��6��

 ���0. 7��	O4  ���,� �=��	/ B�.�-
x� 4� 	���� �� 	J ����� <��� �=

< �= 
1� �H�� 7�-� �� �_1�
� 
X����� �.� .�H�  

 
�	6 �= ��� Q��? �< �= U	V 4��= �H �O��X ������ 
01���� �H

 � ��� ]�4�� �
X����� 	�x ��� ��. 	
-�=) B�	��{��/����	�(  �����

�� ��H�-� 	
-�= ?�� 7��	O �� <�. �� .��.11�  B�	��{�

)�/����	�(  ����� 7��	O dX5  +��� B�	��{� �= ����I� �� ~�_X

 h� 7��	O6  �7  N���� N�V +�
1�� �� �	�4 
1� 	
-�= �= 
���

 h� 7��	O ~�_X6  �7 �= � ����� �O��X�������?� ����= �H	
  
D� �

 < �= ��	H 	�K��.
1�  �=�-� �O�� R��O �
��g�H�  +�� ��� Q��? �

 7��	O dX5  7��	O ~�_X �=6  �7  �6��� ��< �= �= ]V�I� .
1� �H

�� 	�� :���= �����< �= 
�p� 	K� 
>M QH�� � (�-
x� Q��? � 	= �H

 <�. �� .�.�= ���0H 	�x ~�I�12 < �= �)/ ���� �6��� Q��? � �= �H

�� �O��� ����� ���. 7��	O ~�_X +�	= 7� ���I� �� ���.8  �9 

�=< �= ����?� 4� ���M <����	O dX 4� 	
-�= �H 7�5 ��.�.�=  R�.

 7��	O ~�_X �� ��� Q��? �8  �9  4� 	
0�5  	I
�� ~�I� �	�4 
1�

 7��	O dX +��5 �=���� @	/ ������ 7��	O ~�_X �= 
��� �H8  �9 

 N���� :��	=��= .��
�H 	� 9��?���	/ �� @�,�� +	
-�=.��H�  

 7��	O ~�_X ����I� 4�5 �8  �9  <�.��12 �� ��H�-� �= ��.

 N�I
�� ^�_1 �= 7�. 9��?���	/ ���� +4	� ��C � �H��	/ ���,� +


�TP�� �� 7� :�5���� ��V �= ��� �< �= 4� ��� +�HC
º 40  Q��? �

 :�= � �
 ��K 370  – 350 �� ��	P 	
0� �5
A.� <��� �= ��� ��	�/

�� QH�� ����� B���1�� 7��	O< �= ���T� ��`	H .�=��Q��? � �� �H 

 N�I
�� g�H���	/  
 � Q��? � R�1 ��� ����� �2O�� <=�P 
�p� 	K�

�� ?�� ��-  7��	O dX .���	/4  <�. ��13  	H d1� ����?� 4� ��

7� �= �P3� 7��= < �= ���� ���M  �H�� 7�-� ��� ���X	= �� �� �H�

�= 7��	O ��-  < �= 	H �= 7��	O�� QH�� �>�P ���I� [r�.�=��  

  

N*�� 3- ,� Y5VA :�Z�T�/�� LM  ���5� �13. �01�2�   

���0.  

 7��	O dX 
X 

(mm) 
Y 

(mm) 
B�r\-�  

1  16  16  < �= d1� 4�� ���M �H����  

2  32  16  �= �2
��+ I � < �=� P3�� ����  

3 16  32  
�= �2
��+ ��0M < �=+ P3�� 

���� 

4 
5/

20  
5/20  �?��9 �= < �= d1��H  

5 
5/

23  
5/23  

�?��9 �= ������  �>J�  ��

����+ < �= 4��H  

6 
5/

24  
5/20  

�?��9 �= ������  4� ��� �>J�  ��

��0M < �=+  

7 
5/

20  
5/24  

�?��9 �= ������  4� ��� �>J�  ��

I � < �=�  

8 26  5/20  
�=��� �?��9 �= �2
��+  < �=

I �� � ������  

9 
5/

20  
26  

�=��� �?��9 �= �2
��+  < �=

��0M+ � ������ 
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 6
�10 - 67�� ,X-���5� N��� 8��1 :-,��@  ,� �) )m/s2223/0 

= Uz  *3/5  =Re( 

  

 �= � ��. 	� �����	� ��-  ]�4�� +��0M < �= 4� ���M �= :��L0H

�= 7�. 9��?��� 	
-�= B��A
� 7��	O ��-  �= ~�I� +�T= < �=.��	/  

  

  
 6
�11-  ��-5/1 ,X-�050
/��1 ���5� ,� �) )m/s2223/0 = Uz 

 *1/10  =Re(  

  

�`	/ �� ��H�-� 7��	O ~�_X ���0� +�	= ���	I� �5�� :�� ��.

< �= 4� 7�. ��� �= ��� 7��	O ��-  QH�� �Hg�H�  �=	,� �� +	
0�

��.���0�  

  

  

 6
�12- 67�� * ��-5/1 ,�X� ���5� N��� 8��1 ,� �) 

)m/s2223/0 = Uz  *9/14  =Re(  

  

 <�. ��13  7��	O dX +�� 7��	O ��-  �� 	��{� :��9 �= ���I�

 ���6pa 120  � +��0M < �= B���,� ��pa 20  < �= B���,� ��

 .
1� ��H�-� <=�P �I �  

 <�.14  �
1�� N�V �� �� h� 7��	O ��-  ��
���:� ������ 

�� 7�-��>�� < �= :���� �� 7��	O ��-  .�H� ���M �= ��� 
1� :50H +�

4�������>�� < �= +�H < �= 
-� ��6�� �� � ��. ��,�� �5
A.� +�

�� ��,�� ����1 ��6��.
1� ��. 	
T�1� �I � < �= 
-� �� �� ��	/ 

�=�>�� < �= 4� 7�. ��� �= G������ ���� Q��? � ��-  +� ��` 	H ���

�� 	� :50H�� 7� ]�4�� ��.��.  

  
 6
�13-  N5G �1 LM ��/,� ��/,� ��(73. �01�2� 
/��,4 

)m/s2223/0 = Uz  *9/14  =Re(  

  

�>�� 
-� �� ��-  S� ��6�� ������ 4� ��� �� < �= +�H���� �H

�= 
1� :�= 4� G���� �
 ����6 �� @	/ ������ +�� ������ [r� �� �H

 ���� (	
�/ < �= �� :�= �>J� �����.  

 

  
 6
�14-  �"#$ �1 (N�
��� ]�> ,�) ��/,� ��(716.16 =  

x.y ���5� N5G �1 �3. �01�2� 
/��,4�  (m/s)2223/0 = Uz   *0/4 

 =Re  

  

3-3-  ,� 81*�* LM ��/,� W?,� ,X- 8��1
�*,A � N�F��-

��,4 ��(7 W7- * � LM ��/,N���.  

7�0H �� �� ��V <�.15 �� ���� 7��	O 
M	1 Q��? � �= ��.

 4� h�m/s 2223/0  �=m/s 7409/0 h� �O�	X +���  ��. ��1�D� 4�

 (�� �� 	HCFD  � HTRI �� QH�� N�� �� �� B��A� :�� �= �=��

CFD  4� ���K 310  �=K 308  �=5�H��-� � �=g�H� ���� B�	��{�-

�� ���� QH�� �=	,� +�H �6�	V4�= 4� �O�	X +��� 	���I� ��� ���

HTRI :�� 	= ��3M ��
�H �=	,� 	���I� 4� 	
0� ��g�H�  QH��

 .����� ?�� ����A
� 4� 
M	1 Q��? � �=m/s 2223/0  �=m/s 7409/0 

���� �O��X |_1 �= 9��?� 4������ ��M �H G���
= 4�18 �= 65  �� �

 4� N���� d1� �6���1 �= 4 �� Q��? �.�=��  

  

  
 6
�15-  LM ��/,� 8��1 ,� 81*�* LM ��/,� W?,� ,X-


�*,A  

  

 <�.16  h� 7��	O 
M	1 	�K��(UZ)  N�� �� 
>1�� ���I� 	=CFD 

�� 7�-� ���H�.  ��q�� :�� +�	=���I�  
>1��(Nu)  h� 7��	O dX

 ���0.5 �� �� ���� �O��X |_1 B���,�
1� �
 	/ ��	P �H  h�\
��

295

300

305

310

315

320

0 0.1 0.2 0.3

 h
� 7

��	
O 

+
��

�
(K

)

 :� ������ N�V(m)

 7��	O dX1
 7��	O dX2

300

305

310

315

320

325

330

0 0.1 0.2 0.3

 h
� 7

��	
O 

+
��

�
(K

)

 :� ������ N�V

(m)

 7��	O dX5

 7��	O dX6

 7��	O dX7

300

310

320

330

340

350

360

370

380

0 0.1 0.2 0.3

 h
� 7

��	
O 

+
��

�
(K

)

 :� ������ N�V

(m)

 7��	O dX5  7��	O dX8
 7��	O dX9

0

50

100

0 0.1 0.2 0.3

 7
��	

O 
��

-
 

(k
P

a
)

:� ������ N�V

(m)

 7��	O dX

4

302

304

306

308

310

312

0.20 0.30 0.40 0.50 0.60 0.70 0.80

 �
O�

	X
 h

� 7
��	

O 
+

��
�

(K
)

 �
1�� �	1 N��1 
M	1(m/s)

�=	,� ����
HTRI

CFD
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.
1� ��. �= h� N���� +���� �� +��� U3
X� � 7��	O �5
A.� <���

���� �O��X ������ �= ���4�H
>1�� ���I� �  ���4 ����= 
1�� �� �� <�P

 4� +��0M < �=�= B�.QH�� ���=�� . :��L0H 
M	1 Q��? � �=� h

 R�. 	
0� +��0M < �= 4� <�P �� 
>1�� ���I� QH���� ��. ���

< �= 4� ���M �� 7� B�	��{� �H�� ���� Q��? ����.    

 Q��? � �� b��_J� 4� �.�� ��-  
 � h� 7��	O 
M	1 Q��? �

���� :��	=��= .�H� < �= ��O� � h� ���4 
M	1 
.�� ��q
�� 7���

SH 	K� ��-  
 � +�� �
.�� ���? � <�. �� �
�� :�� .��.�=17  �=

�= N���� N�V �� ������ b��_J� R�	e Q��? � 
M	1 Q��? � 
>M

�= < �= B���,� �� 7� ���2/�� B�	��{� � h� .
1� ��H�-� <=�P �=�X

Q��? � �= G���
=  B���,� �� b��_J� R�	e B�	��{� h� 
M	1

< �= .
1� ��. 	
-�= �H  

  

  
 6
�16 -  :-,��@  1�? ^V� �� �/1<� ��/,� W����

�050 
���AN���. N5G �1 LM ��/,� W?,� �� �) .)1 ( 

m/s2223/0 = Uz  *4/17  =Re �)2 (m/s 3704/0 = Uz  *

3/22  =Re �)3 (m/s 5637/0 = Uz  *6/26  =Re �)4 (m/s 

7409/0 = Uz  *8/28  =Re  

  

  

  
 6
�17- :-,��@  `�
V$- ]/,a �050 
���A ��-5/1 �) ��

N���. N5G �1 LM ��/,� W?,� .)1 ( m/s2223/0 = Uz   *4/17  =

Re  �)2 (m/s 3704/0 = Uz  *3/22  =Re  �)3 (m/s 5637/0 = 

Uz  *6/26  =Re  �)4 (m/s 7409/0 = Uz   *8/28  =Re  

  

3-4- 67�� 6$-57 b/-<7- ,X-��1 ,� �)�  N�F��-��,4  ��(7 W7- *

���5� �1  

N�� G��
� 4� +�HCFD  +�	= ��. +4�1 �����:� ������ � �� +�H

�>�� < �= �1 
M	1 �= +�m/s 3704/0  +���� h� 7��	O�= ��q��

 7������ 	= < �= 	K� �1�	=��	/ +:� ������  �� .
1� ��. ���A
1�

 <�.18 	H +�	=  ��:� ������ ����	/  7�. 9��?� �=�=< �= �H

�� �� �1��D� +��� Q��? �< �= +�	= 7� ���I� �� �H� ���2
�� +�H

 9��?� < �= 4� Q�=�= ��� .
1� +�����=< �= 	
���?� �>J�  <��� �� �H

:� ������ ����	/ < �= �1 �=  QH��g�H� = ��� Q��? �� 4� G����

 �> �=�=�� 	� ���D� 	5�� < �= 	�� :�� 
>M .��	/�� ��O� �����

< �= 
-� �� :��1 �6����.�= �H  �	�4�� �_��	. ��M d1�
� ��

 N���� N�V �� 4������:� ������  +� �>�� < �= ��21  �� �:� ������ 

�>�� < �= �1 +�31 
1� 4� � �5
A.� 
�p� 	K�U�	V�  < �= 	�C�=)

 Q��? � 	= (4������ ��M 7��= N�I
�� R�	e��	/ � ��. �
1��
1 .

 4� 
=�K N�V 9� �� h� 7��	O ~�I� 4� +����= +��� :��	=��= ������

:� ����	/ �>�� < �= �� �=�-� ~�I� 4� 	
-�= +� �= ��:� ������  �1 �=

 �=�>�� < �� �� 
1� +� <�.18 �=�� ��H�-� �
�� :�� ^�e� .��	/

 N���� �� 
1� ��T� 7��= :����	/  �
1�� N�V ���0� �������� :� 

�>�� < �= �� �= 4� 	
-�= +�:� ������ ����	/ �>�� < �= �1 �=.
1� +�   

   

  
 6
�18- -67�� 6$-57 ,X �1 
�*,A LM ��/,� 8��1 ,� �)

3. �01�2� 8�)��,4���
/ N5G �� 8 .3. �01�2� ���� 67�� *1 �� -

8- : (m/s)3704/0 = Uz    *21  =Re � �01�2�3. ���� 67�� �� ��-

8- :(m/s) 3704/0 = Uz    *31  =Re  

  

 <�. ��19  +��0M < �= 
-� :��1 �6����= �= �=� g��

7��	O7�0H .
1� ��. w\-� 7��	/	1 �=��	/ +�H <�. �� �� ��V

�� ��H�-� �� +��0M < �= 
-� 4� ��6�� :�� ��	/ �� �>J�  �����

 (	
�/ < �= .
1� �
 ��  

  

  

  
 6
�19-  W(� 3.�� 
>-5� * LM ��(7 �5���. * W?,� �-1,�

���� 67�� �"#$ �1 8-x=16 mm  

  

< �= 	K� �`	/�= �H N�I
�� 7�?�� 	��	/ = �
1�� �� 9��?� �= G���


�= 7�.���� �O��X |_1�� 	
0� �H�0� :�= 4� ��� ��	/ <�. �� .���

20  �� +�	= 
>1�� ���I�:� ������ ����	/ �� �>�� < �= �1 � < �= +�

dX +�	= ���0. 5  h� 7��	O ������ �O��X |_1 ���,� ��C �� �H

 ���� ��	P +���� �� .
1� ��. ���� 7�-� N���� 	H +�	= 
>1�� 	���I�

 ��:� ������  N�� < �= B���,� �� ��� 
1� 7���� ���	I� @�1 �

:� ������ �>�� < �= �1 4� 
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